Funding Decision- Project Team VNC

Question 1: Should we fund Team VNC project?	Question 2: If your answer was yes in Question 1, then which aspects of project should we fund?	Your comments or concerns. (optional)	Your name (mandatory)
Yes	Monthly expenditures (rent, printing, electricty bill, books/teaching aid)- Rs.34,800, Sponsorpship of 4 students- Rs 32,000, English speaking class- 4 students- Rs 8,000, Repair of 2 computers- Rs 4,000, Maintenance of room- Rs 4,000, Filed trips- Rs 32,000, Health Camps- Rs 10,000		Prasoon
Yes	English speaking class- 4 students- Rs 8,000, Filed trips- Rs 32,000, Health Camps- Rs 10,000	In addition, I vote for the books and teaching aids as part of monthly expenditure. We could also sponsor Sunday activities as well, when there have more students turning up. We need to ask them the exact expenses required for Sunday activities. They could provide us the exact split for the monthly expenditures.	Vinod

Question 1: Should we fund Team VNC project?	Question 2: If your answer was yes in Question 1, then which aspects of project should we fund?	Your comments or concerns. (optional)	Your name (mandatory)
Yes	Sponsorpship of 4 students- Rs 32,000, Sponsorship of one student for CA coaching class- RS 20,000, English speaking class- 4 students- Rs 8,000	Sponsoring the students is fine as these students seem to be with them for long. But for the rest, I feel they need to show progress in certain areas in which they had been questioned in the call like about the usage of computers, contingency plan for dropouts, evaluation procedure etc. If they show progress in planning with respect to these issues before the year end, then we could fund them accordingly for the next year.	Suman
Yes	Monthly expenditures (rent, printing, electricty bill, books/teaching aid)- Rs.34,800, Sponsorpship of 4 students- Rs 32,000	We can talk to Team VNC members to see if we can bring down the monthly expenditure for books/teachings aids by connecting them with ASHA Hyderabad Chapter.	Gaurav Nanda
Yes	Monthly expenditures (rent, printing, electricty bill, books/teaching aid)- Rs.34,800, Filed trips- Rs 32,000, Health Camps- Rs 10,000	My first option would be to send them The funds they urgently wanted Rs74,000. ~\$1368 Second option would be the above selection which comes up to Rs76,800. ~\$1420	Aarti Chigullapalli
Yes	Sponsorpship of 4 students- Rs 32,000	, 11 , 11	Tejasvi

Funding Decision- Project Team VNC

Question 1: Should we fund Team VNC project?	Question 2: If your answer was yes in Question 1, then which aspects of project should we fund?	Your comments or concerns. (optional)	Your name (mandatory)
Yes	Field trips- Rs 32,000, Tying up with other organizations for volunteer training- Rs 20,000		Aditi
Yes	Sponsorpship of 4 students- Rs 32,000, English speaking class- 4 students- Rs 8,000	I am not confident about supporting the entire project as from the documents I feel they are not properly organized. But their initiative is good and hence I feel sponsoring students might be a good option.	Anup Mohan
Yes	Sponsorpship of 4 students- Rs 32,000, English speaking class- 4 students- Rs 8,000		Romila Pradhan
Yes	Sponsorship of 4 students- Rs 32,000, English speaking class- 4 students- Rs 8,000, Health Camps- Rs 10,000		Neha choudhary

Question 1: Should we fund Team VNC project?	Question 2: If your answer was yes in Question 1, then which aspects of project should we fund?	Your comments or concerns. (optional)	Your name (mandatory)
	Monthly expenditures (rent, printing, electricty bill, books/teaching aid)- Rs.34,800, Sponsorpship of 4 students- Rs 32,000, Sponsorship of one student for CA coaching class- RS 20,000, English speaking class- 4 students- Rs 8,000, Repair of 2 computers- Rs 4,000, Maintenance of room- Rs 4,000, Health Camps- Rs 10,000, Tying up with other organizations for volunteer training- Rs 20,000, Incremental room rent charges in case of moving to larger facility- Rs 6,000, Contingency plan- 5 percent of total-		
Yes	Rs 8,440 Monthly expenditures (rent, printing, electricty bill, books/teaching aid)- Rs.34,800, Sponsorpship of 4 students- Rs 32,000, Sponsorship of one student for CA coaching class- RS 20,000, English speaking class- 4 students- Rs 8,000, Repair of 2 computers- Rs 4,000, Filed trips- Rs 32,000, Tying up with other organizations for volunteer training- Rs 20,000	I don't know if these guys have already spoken about this, but it might be a good idea to probably have some way of getting people who've graduated and got jobs, for example the one student they are sponsoring for CA, involved in this project	Atish Parekh

Funding Decision- Project Team VNC

Question 1: Should we fund Team VNC project?	Question 2: If your answer was yes in Question 1, then which aspects of project should we fund?	Your comments or concerns. (optional)	Your name (mandatory)
Yes	Monthly expenditures (rent, printing, electricty bill, books/teaching aid)- Rs.34,800, Sponsorship of 4 students- Rs 32,000, English speaking class- 4 students- Rs 8,000, Health Camps- Rs 10,000		Suchismita Sarangi
Yes	Monthly expenditures (rent, printing, electricty bill, books/teaching aid)- Rs.34,800, English speaking class- 4 students-Rs 8,000	The organization looks reasonable, hence should not be denied funding. However, keeping in mind the concerns associated with VNC, we should probably fund a smaller amount and monitor their progress closely. We can disburse funds to cover the most important expenses.	Kritika
Yes	Sponsorship of 4 students- Rs 32,000, Sponsorship of one student for CA coaching class- RS 20,000	I appreciate their effort but I feel that they have to come up with a proper teaching and management plan in order to have a stronger impact. However, I do support them funding students for higher education since that doesn't have to do a lot with the structure of their own organization.	Sunny Chugh